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L pnv ": after midday, *ov "1 would allow burning nknvn oy AN NN
a. Inference: R1IN "7’s case is a N277 19N > n™ infers from R1IN 1 (not from YW "/8™); n"nn they destroyed xnva Mo
b. Proposed support: n"a permit (contra w”1) burning v together, even though amn Y1a aren’t DRNY
i. Rejection: 9mn S1a are called oxnvo (132770)
c. Proposed support: Rn»11 (approximating v mman 8navin) — moldy bread may be destroyed with nxnv nmIN
i. Rejection: since it’s moldy, it’s already worthless
d. Challenge (to 2177 79): if n"1 derives from Ryan "7, why does o1 "1 use the term “nmn” and invoke YWy "1/8"?
i. Answer: »0v "1 points out that even Ywn> '3, representing the most lenient position, doesn’t allow for Rno+nnv
ii. Challenge: if so, why is n"’s inference called (by >0 "3, in XnavIn) “nTNN 10 NPR”?
1.Answer (77077 77): RPIN '7's case involves meat that was ®Xnv1 via liquids that were 7w nnnn knv
a) »”r holds that such transmission is only 112911
b) sor 72 holds that such transmission is Rn»1RT
¢)Per: »:n MANY RNADIN — and YINWY 12 MYOR "7 accepts N™’s position (179273 IR R™ 717 127)
i. Challenge: y1nW 12 719X "1 ruled that there is no Ppwn Nk whatsoever ("p>y 37
1.Support: :n NYTY — 197 R'N27M 22 'pwN (the liquids of the nam are oY)
2.Note: according to YR1mv, who interprets "j97” as not transmitting — they have jnxy nxnv
3.But: according to 17, who interprets ”j57” as having no nkmv at all — the challenge stands
a.Suggestion: perhaps 8" only accepted part of n"v’s ruling - no transmission of NXMY
i. Block: wording of Xn»1 indicates that 8™ accepted the entire ruling of n™ - 0vp
II. Tangent: YR1nW1 21 on the phrase 137 XN20N NY2 PPVN (T:N MNTY)
a. 27 fully mnvo —all ppwn nkmv is 13277 and they didn’t extend it at all to ®nan »a
b. 58w doesn’t transmit N8MV but has inherent NRMY; PPWN NRMIV is N"NN; transmissive PPWN NRMY is "N
i. And: they didn’t extend transmissive Ppwn nkmv to the xnatn 7
ii. Challenge (to 58w, brought to 97): v. 1 indicates that anything that is Xnv transmits nrmMY
1. Answer (979): just as WTpa *»11 (see note on p. 12) cannot transmit further (it’s not "RNY”; it’s "109”)
2.Challenge (’wx *7): WP *»27 isn’t called 8NV — not analogous - RwWp
iii. Challenge (to 37): v. 2 indicates that ppwn have nxnv
1.Answer: both refer to water as 9*wan — p11ann and PvIvN
a) Justification: pwon are rendered significant by his using them; y1ann are still in situ
iv. Challenge: v. 3 implies that other waters (besides well-water) can become &nv
1.Answer: v in v. 3 means that it is 9nvn others (19202 — 0»n 0N IR1)
v. Challenge (to earlier read of v2): PVI>N DN are not PWIN, per R1IN 11’0V “1's extension of 137 XN1TH 1 'pwn
1. Answer: that is specifically »wp n7; since it isn’t spilled out like water, not 1won (v. 4)
2.And: ro¥nnn 7 is irrelevant, as it isn’t 1wan even if PoN —per v. 5 (not w1 DT)
vi. Challenge (to 37): Rn»72 — if RNV DT was pa1, the po¥ is N¥In only if done awa (> R'NaTn 72 0T can become KrNY)
1. Answer: that is v nNRMY, contra the position of 7Yy 12 70V "1 (author of testimony that 127 XN27Tn 22 'pwn)
vii. Challenge (fo 37): Rn»12 that the ¥ is n¥In for 9w DT (a: 132770, again contra the position of 7YY 12 r01 ")
viii. Challenge (to 37): v6>nxn % for - nRMY (I Y19 already rejected in vv. 7-8)
1. Answer (97): that isn’t o7 nRMY, rather ymp kMY (which is a 1nn for nnn, as 07 is PN for TV31)
ix. Challenge (to 27): 27's own take on the 0’n2’s answer to »n’s quiz (v. 9) — they erred (i.e. 1nW 1 are Xnvn on Nan)
1.Answer: 27 reads T:n NYYTY as XNavn 1’1 'pwn — they no'nwn nva where there is 0'M 7

www.dafyomivyicc.org 13 © Yitzchak Etshalom 2013




